m B Al B KSR R

(B )

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
[ 2 B 93, 798 9.1 2 62,592, 817 13. 4 667
2 < A ES 91, 896 18.7 1 83,342,418 17.9 907
3 S 5 37,163 1.6/ 3 950, 168, 213 10.8 1,350
4 Ly Al 4| 23,614 4.8 8 16, 799, 654 3.6 111
5 N ohn (AR | 22,161 4.5 11 13,211, 617 2.8 596
6 | [E ES 5 19,595 4.0 5 18, 601, 440 4.0 949
A 17,459 3.6 12 10,731,076 2.3 615
8 | Iz (A 15, 986 3.3 6 18, 274, 996 3.9 1,143
9 | W H L 13, 287 2.7 21 4,131,162 0.9 311
10 | & I+ 12, 443 2.5 1 18,065, 297 3.9 1,452
1" = el 4] 10, 845 2.2, 9 15,901, 628 3.4 1,466
12 | % < %) 10, 056 2.0 4 21, 366, 745 5.9 2,721
13 S 5| 8, 459 1.7 24 3, 465, 840 0.7 410
14 [T & 1,653 1.6 17 4,597, 690 1.0 601
15 & Y 1,144 1.5 15 9,517, 491 1.2 172
16 L c H 6, 459 1.3 18 4,351,731 0.9 674
17 |5 AN 1)) 6,172 1.3 20 4,281, 628 0.9 695
18 | M s 6, 036 1.2] 26 2,957,148 0.6 490
19 [ [F = T 0,826 1.2 14 6,572, 695 1.47 1,128
20 & A el 3,924 0.8 32 1,793, 328 0.4 457
21 5 C 3,674 0.7 13 1,792,983 1.7 2,121
22 | A Iz 5| 3,653 0.7 22 3,869, 374 0.8 1,059
23 | (& ES < Y 3,209 0.7 29 2,141,612 0.5 667
28 ® A - 3 2,661 0.5 217 2,634,180 0.6 990
25 1= =) 5| 2,545 0.5 28 2,402, 254 0.5 944
26 O 5 1)) 2,508 0.5 19 4,297,980 0.9 1,714
21 1 5 ¥ S5 H 2,238 0.5 35 605, 130 0.1 210
28 | ¥ El E 1,901 0.4 30 1,954, 202 0.4 1,028
29 & Cp) = 1,832 0.4 31 1,901, 842 0.4 1,038
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(B%)

o % H HE(Ke) RO T & @ E (%) TRBE
30 |5 Iz 4] 1,208 0.2 10 14,524, 380 3.1 12,023
31 | » C g £ 1,141 0.2 33 992, 324 0.2 870
32  z [0} 2 1,026 0.2 25 3,421, 388 0.7 3,33
3 | = A A 864 0.2 38 422,820 0.1 489
KT ) el (63 690 0.1 23 3,714,086 0.8 5383
3%  H wp 488 0.1 34 886, 680 0.2 1,817
36 & ) z 466 0.1 37 517,104 0.1 1,110
31 | C ) L 5 364 0.1 40 209, 905 0.0 971
38 R <1 321 0.1 16 4,823, 820 1.0 15,027
39 | L =) 3 & 3N 0.1 36 519,102 0.1 1,669
40 W L b 5 283 0.1 42 90, 426 0.0 320
4 EL&LS (54F) 89 0.0 39 325,728 0.1 3,660
42 | I 1= (& 1= 81 0.0 41 91, 692 0.0 1,132
43 |7z ES < 23 0.0 43 95, 944 0.0 2432
4 | & & + 8 22 0.0 44 46,137 0.0 2097
T ® o ft & £ 25,508 5.2 1 22,108, 365 4.7 867
2 = o M B H 8, 602 1.8/ 2 1,442, 400 1.6 865
3 o O E H 5,187 1.1 3 5,406, 745 1.2 1,042
4 1% ) fth 271 0.1 4 9525, 994 0.1 1,899
fit gl H 491,148 ' 100.0 466, 455,277 100.0 950
(HER)

o % H HE(Ke) RO T & #E E (%) THBE
1 m 3 e [+ 98, 609 26.4| 1 48,757, 896 13.2 494
2 A 7R -\ 48,137 129 4 25,572,059 6.9 931
3 A & (X 34,102 9.1 6 13, 830, 804 3.8 406
4 m » o h (A 25,720 6.9 5 16, 870, 862 4.6 656
) bl < A ES 21, 540 2.8/ 9 12,851, 357 3.5 997
6 & & H F B 15,992 4.3 3 30, 378, 930 8.2 1,900
T % z [6) 13, 869 3.7 2 35,507, 086 9.6 2,560
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(RERA)

o % H HE(Ke) RO T & @ E (%) TRBE
8 m pa) D H 11, 446 3.1 8 13,184, 811 3.6 1,152
9 |'& = [+ 8,721 2.3 12 9,717,090 2.6 1,113
10 & Ly ya) 6,038 1.6 11 10, 299, 168 2.8 1,706
Mm% ® £ < 5 % 5,130 1.4 17 13, 221, 201 3.6 2,571
12 & pa) 1z 3,955 1.1 10 11, 057, 088 3.0/ 2,796
13 m = A = 3,421 0.9 17 3,163, 302 0.9 923
14 & 1= Ly 3,196 0.9 13 5, 246, 941 1.4 1, 642
15 m S 1= T 1,871 0.5 14 4,394, 044 1.2 2,341
16 & 1= D) 1,831 0.5] 16 3,178,474 0.9 1,736
17 & * El 1,829 0.5] 15 3,642,785 1.0 1,992
18 w I L A 1,816 0.5 23 465, 845 0.1 257
19 & & »» L & % 1,770 0.5 18 1,822,774 0.5 1,030
20 | & 1= - 1,138 0.3 19 1,432, 231 0.4 1,259
AN ) C 906 0.2 24 454,820 0.1 502
22 - = H B 1717 0.2 22 734,144 0.2 945
2 &5 B T b I 669 0.2 21 897, 346 0.2 1, 341
24 A =3 El 440 0.1 20 1,037, 340 0.3] 2,358
25 - & hoa) IF 220 0.1 25 251, 640 0.1 1,144
26 | & ) 1 130 0.0 27 192, 780 0.1 1,483
217 | 2 O 4 5 — 125 0.0 28 150, 120 0.0 1, 201
28 m < C ) 62 0.0 26 222,426 0.1 3,588
29 maA v FECAH 23 0.0 30 5,185 0.0 225
30 & A L L — Y 22 0.0] 29 30, 316 0.0 1,378
1 & B & 46, 701 12.5| 1 68, 980, 789 18.7 1,477
2 = 0O M A& E 7,051 1.9 2 16, 960, 003 4.6 2, 405
3 | o b s B B 5, 811 1.6/ 3 14,047, 548 3.8 2,417

- ¥4 ! B 373, 086 100.0 368, 559, 205 100.0 988
(B8F. MI&H)
o ) = HE(Kg) HEOG ZH @ B L (%) THE(E
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(\F. M)

£

o g 8 #E(Kg) HE% ZH B HE(%) FHEE
1 |18 & [+ 43, 545 14.9 1 51,098, 801 14.5) 1,173
2 5 L 31,282 10.7 2 31,160, 625 8.9 996
3 pa) E3 (F : 15, 350 5.3/ 6 15, 865, 833 4.5 1,034
4 & ¥ S 12,393 4.2) 5 18,138, 343 5.2 1,464
5 | Bf ¥ 10,678 3.7 4 18, 969, 853 5.4 1,771
6 | # + 8,959 3.1 3 26, 086, 806 1.4, 2,912
TR OF F o IF 8, 436 2.9 8 14, 675, 603 4.2 1,740
8 | E H N O 8,07 2.8/ 10 6, 767, 966 1.9 839
9 | & + 6, 805 2.3 9 12,377,168 3.5/ 1,819
10 5 < o) 5,785 2.0 16 4,599, 271 1.3 795
n o 5 Y A 5, 625 1.9 15 9,031, 622 1.4 895
12 1 H F & A F 4,921 1.7 11 4,584, 584 1.3 931
13 | i& n 5 4,750 1.6 11 6,175,216 1.8] 1,300
14 | B T ) C 4,650 1.6 12 5, 660, 884 1.6 1,217
15 | 4] & # 4,435 1.5 13 5,174,944 1.5 1,167
16 B =& 'Y 3, 808 1.3 14 5,116,770 1.5 1,344
17 | 1& 3 I+ 3, 161 1.1 25 2,220, 048 0.6 102
18 | B T (& 2,916 1.0 24 2,622, 866 0.7 899
99 5 3 5 & 2,828 1.0 18 3,458, 884 1.0 1,223
20 | L < ) 2,606 0.9 7 15, 440, 235 4.4 5,925
21 | & Y A T 1,923 0.7 20 2,913, 836 0.8/ 1,515
22 A F W b L 1,897 0.6 26 1,296, 242 0.4 683
23 | Bt 2 1,457 0.5 19 3,092, 359 0.9 2,122
24 |18 ES ¥ 1,343 0.5 27 1,204, 709 0.3 897
25 | 71 & 1,078 0.4 28 945, 472 0.3 871
26 T 2 S 1,046 0.4 21 2,766, 646 0.8/ 2,645
21 | 1= C 32} 706 0.2 23 2,671,597 0.8/ 3,793
28 | ¥ ) 1)) 701 0.2 22 2,716, 859 0.8/ 3,876
29 & X Iz L A 621 0.2 31 485, 121 0.1 181
30 & D ¥+ 271 0.1 29 112,242 0.2/ 2,628
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(\F. M)

£

o & Z HE(Keg) RO 1 & R FHEE
3 B F = B L 265 0.1 30 962, 653 0.2 2123
2 9 &5 L & 5 N 251 0.1 32 293, 355 0.1 1,169
3B R F T A F 154 0.1 33 152, 511 0.0 990
34 N —t—2 2 0.0 34 2,722 0.0 1,361
T2 o # & ®H & 62, 769 21.5] 1 41, 874, 509 11.9 667
2 o o v 5 9,653 3.3 3 10, 215, 885 2.9 1,058
3 T o # F B 8, 833 3.0/ 2 14,417, 286 4.1 1,632
4 1% ) ftt 8,236 2.8 4 10, 095, 509 2.9 1,226

B F . mI a5 292,216 | 100.0 351,651,835 100.0 1,203
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